PYLE
Howme
Plasma LCD bracket

INSTALLATION GUIDE
Iltem No.:PWLB003

Fig 3

Ca UtIO N . This Product LCD /Plasma Wall Mount Bracket is

intended for use only with the maximum weights indicated .See apparatus
instructions .Use with products heavier than the maximum weights
indicated may result in instability causing possible injury .

e |deal for Flat Panels from 10” to 24”
e According VESA standard to design
e Thinnest design: Distance to the wall is only 37mm

e Fasyinstalling: just glide and embed to finish
installing of panel
® Max load capacity: 15kg/33Ibs

IMPORTANT: If don’t understand about right install ways, please
consult to normal installing specialist.



=Z
o

Qty

Name

LCD panel

Wall mount

M4x8 bolt

M4x12 bolt

M5x8 bolt

©

M5x12 bolt

M5 washer

Long bolt

O™ ™ OO N

@

NN (DD DN

Wall anchor

Step I:
Choose fitting position on the wall.

Important: Make sure there is
enough space to spread LCD,
considering show size.

This product offers two installing
parts: wooden wall and cement
wall.

Step2: Installing wall mount

Installing ways of batten wall.

Use aelectronic detector in lay position to detect the position of batten,
then making a mark. Put the wall mount in the installing position flatly,
using it as template, lining out a hole in the center of batten. Using a
aiguille of dia.3mm to drill two 50mm deep holes. Using long bolt to
install wall mount carefully.

Installing ways of cement and beton wall

Put the wall mount flatly in the installing position, using it as template,
lining out the hole on the wall. Use a aiguille of dia.8mm to drill a 50mm
hole, embedding the wall anchor to hole, and knocking it into wall lightly.

Carefully: wall anchor is just fit for cement and beton wall. Don't use
wall anchorin drywall to install bracket..

Step 3: Installing LCD

/
& According LCD hole's size, deep, position
| to choose bolt. UsingM5 washer and
— » chose bolts to install the LCD on the
panel. Showing as Fig 2.
1
] Carefully: Don't force the bolt to LCD
% hole, avoiding damage to people and
\/Flgz instrument. Don't use electronics drill

to fasten screw.
Step 4: Button the LCD to wall

Firstly put up the panel and TV, making the small trough on the
panel fit to the big trough on the wall mount, according trough to
embed the LCD panel into the wall mount, As shown in Fig 3.

Warning: It needs 2 people to put up some TV! Our company will not
responsible for any damage by man-made.

I —
-3-



